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                                                         |              

1 

              -6                          -1    0    

          -1            1 

05.  AOB = AOD            1 

       BOD = AOD            1        

07.  1t 25kg x 15            1 

               

    15t  375kg              2 

09.  -5 (a-2b+4c)             2 

  -5 - Gs;sp 1     

11.  1 x 2 x 1                1 

        2 

  1 m3               2  

13.     

     2                                                                      

15.  5  1  - (-4)                 

  2 

      5  1  + 4                            1              

           2 

      9  1                            10 - 9 1 

          2                                       2      

   00:30    K.g' 12'30          2  

      18.           2                

      

   

  4ab2                    2 

 

                           4 vLg;gjw;F           1  

06.  A = { u>K>l>d;}         1  

 n (A) = 4             1 

08.  34 - 1               1 

    33                 2 

  

10.  140                   1 

  70                     1                    

  

12.  I.   8                1  

  II.   7                     1 

  

14.  10 = 5cm                    1 

              2 

  5 x 4 = 20cm                 2                    

16. 1    x 8 x 5              1 

            2 

           4 x 5  

             20 cm2                1 

17. 275  x 3             1 

             

          825 ml                2   

 

 

  

    15                      2 

01 .  2  (8) - 1               1 
             16 - 1               3a = 6   

02 .    1            3 a - 2 =  4                 

    a = 2                      2 

03 .  04 .  4 ab2, 8a2b2c    

8 
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19.  7 : 5               

             

           7  x 100]           1  

          5   
  140  ]            2    

 

 

20.  1 : 600              

             

         1 cm            6m         1 

          6 x 3 = 18m         2 

gFjp II  

01. (a)   

    I.  A = 14.4             1 

                            B = 17.8              1 

    

                        II.-2     X    3           2 

                       III.                                                        1 

    -3  -2  -1  0   1   2    3   4 

 

(b)                   I.      C Gs;sp              1 

                       ^7"- 2&              1                                

ABCD  rJuj;jpd; rkr;rPu; mr;Rfs; 2                               
re;jpf;Fk; Gs;sp ^4"1&          1 

^C) 20 + 30 + 30 + 12 + 12 = 104 cm                 

  1cm            400cm  

    1cm            4m                1 

    104 x 4               1  

     

                                                

                           

 

 

03.  I. (+2) + (-3)            1 

  (-1)                         1 

II. (+2) X -4   = (-8)  = 2          1+1  

                       -4 

 

III. 2 (6x-y-2) 

     
    G' 1        G ' 1 

 

IV. 8y3 

        23x y3 = (2y)          G ' 1 + 1  

2 3 

V. (3a)  x (2b)  

     27a3 x 8b3           G ' 1 + 1 

 

    216a3b3                           G ' 1 

  

04. I. 20 + 20+20+20+20+20+20+20 

  20x 8                G ' 1 

  160cm              G ' 1 

 

 20x 6                G ' 1 

  120cm              G ' 1 

 

 

 

      cUit tiutjw;F    G ' 1 
 

 

(c)  I.  3b - 2                 1 + 1  

II. 3b - 2 = 58                  1  

III. 3b - 2 = 58    

3b = 60                   1       

b   = 20                  1 

   

 

      (b).  12 + cr;rp = 30 + 2 

cr;rp = 32 - 12                 G ' 1                                

cr;rp = 20                   G ' 1 

  

     ©.  I.   rkgf;f Kf;Nfhzp       vitNaDk;   
    rJuk;           2w;F - G' 2  
    xOq;fhd mWNfhzp    
 

  II.   ,y;iy           G ' 1 
    midj;J cr;rpfs; njhlu;gpYk; 
tbtkhdJ xNukhjpup re;jpf;fhik        G ' 1 
   

    

 
  

  

    

    

(-4) 
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05. (a)  I.     21 x 1       G'1 

                     2    2 

    

         5  x 1       G'1 

             

 5   =     1 1       G'1 

              

  II.   4  1  ÷ 2 1        

   

     =       9    ÷    9            G'2              

    

                 =  9 x 4              G' 1               
                       2      9 

         =    2                 G' 1 

 (b).   I.  2x3x3            G'1  
   = 18            G'1 
            

  II.    324            G'1      

                    =  18 cm            G' 1   

 

 

II. ABC  = 90              G'1 
III. rkgf;f Kf;Nfhzp          G'1 

 

 

 

06. I.  A ={6,9,12,15,18}          G'1 

                                C = {W,E,L,C,O,M}         G'1 
    
   II.  n(D) = 0          G'1 
    D #zpaj;njhil              G'1 

III. 9 ∈ A        G'1                                       

      h ∈ B              G'1 

  (b).     I .   30          G'1 

            II.  14     =  7            G'1+1 

30      15 

            III.   2   =     1            G'1+1 

 

 

  

    
     II. Miu                     G'1  
      Miur;rpiw            G'1  

        C 

  ©.   I.         5cm 

                                                3cm                   G'3  

                         A       4cm    B     

07.   (a).   

    

    
    
     

    

   

x = 500           G '1 

180 0 - 120 0 

600                   G '1                                 

  y = 50 0  + 60 0 
  

y = 110 0                G '1 

 (b).     I.   G  

 2     2 

 4               4 

 2       4 

 2             4 

 8          4 


